Write each statement as a conditional

Example: The measure of an angle is 90°. So, the angle is a right angle.

If the measure of an angle is 90°, then the angle is a right angle.

1) Three points are all located on the same line. So, the points are collinear points.

2) Two lines are not on the same plane. So, the lines are skew.

3) Two angles are supplementary angles if the sum of their angle measures is equal
to 180°.



Identify the hypothesis and the conclusion of each conditional statement.

Example: [f two lines intersect at right angles, then the lines are perpendicular.
The hypothesis is “Two lines intersect at right angles.”

The conclusion is “The lines are perpendicular.”

4)  If the sum of two angles is 180°, then the angles are supplementary.

5) If the sum of two adjacent angles is 180°, then the angles form a linear pair.

6) [|f the measure of an angle is 180°, then the angle is a straight angle.



For each conditional statement, draw a diagram and then write the hypothesis as the “Given” and the
conclusion as the “Prove.”

IfRT bisects ~PRS, then ~PRT and ~ SRT are adjacent angles.
Example: P
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Given: RT bisects ZPRS
Prove: ZPRT and 4SRT are adjacent angles



7y If £LQRS and £SRT are complementary angles, then m2ZQRS + m£SRT = 90°.

Given:

Prove:



8  If AB L KJ and AB bisects KJ, then AB is the perpendicular bisector of KJ.

Given:
Prove:



9 If PG bisects ~FPH, then ~FPG = / GPH.

Given:
Prove:



